Hill Climbing

Algorithm 1 Hill Climbing
1: current <~ a random state

2: while true do P > lowest cost
3:  next < get-best-neighbour(current)

4. if cost(current) < nOm,ﬁ?me then
5: break local opttmum

6: end if

[

current < next 7nove 1o sm\@x&%ﬁ
8: end while
9: return current
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~“Hill Climbing with Sideway Moves J
Allowr < (00 consecutive  sidelay moves
Algorithm 2 Hill Climbing with Sideway Moves

1: current + a random state A Mitalize. u&@ﬁi& \Sﬁrm( Courmt

2: while true do

3:  next < get-best-neighbour(current)

4:  if cost(current) < cost(next) then

5: A Strct local mhimum

6: ué@\\\,\mﬁw |

7: end if

8: if nOm:Mn:_\_\m:G = cost(next) then

: not ouer mim%mﬁ limdt=

10: ﬂ Then Move 10 nelghboud and  mcement m&\mé Ut
Otherluise  break |

11:  end if

12: [ move To nelghbour

13: reset side ?& cout .

14: end while

15: return current
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il Climbing with Tabu List

\W, Not qo back < lo0 Q@i@ Vs ited Smﬁ\%w,

» How do you keep track of the most recent nodes visited?
@kam\ ,

‘ Y
» How would you update the list? (only useful on a plateai( )

M pest neghbour In - queue
Cconsider- next best xm\w\V bour~

ofse | |
S Queue Stze below limit .
add Ty wgmtm u
else

0dd Hv queue , wremove Jhe oldest
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Crenetic. Mgorithm 8- Queens
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